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M. A. (Third Semester) 

EXAMINATION, Dec.-Jan., 2020-21 

ECONOMICS 

Paper Fourth 

(Environmental Economics) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- MCY;w- Vh- vks- dk izFke lEesyu dgk¡ gqvk \ 

¼v½ flaxkiqj 

¼c½ tsusok 

¼l½ vejhdk 

¼n½ nksgk 
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Where was the first conference of  the W. T. O. ? 

(a) Singapore 

(b) Geneva 

(c) America 

(d) Doha 

2- izkd`frd iw¡th esa dkSu&lk ?kVd lfEefyr ugha gksxk \ 

¼v½ ?kj esa fd;k x;k mRikn 

¼c½ cktkj esa fd;k x;k dk;Z 

¼l½ ou esa fd;k x;k dk;Z 

¼n½ mi;qZDr esa ls dksbZ ugha 

Which component will not be included in nature capital ? 

(a) Home made product 

(b) Market made product 

(c) Work done in the forest  

(d) None of the above 

3- tc MCR (Marginal Cost of Reduce Pollution Curve) uhps dh 

vksj fxjrh gqbZ gksxh] rks bl n’kk esa lkekftd fLFkfr % 

¼v½ lkekftd gkfu de gksxh 

¼c½ lkekftd gkfu c<+sxh 

¼l½ lkekftd gkfu ;Fkkor~ jgsxh 

¼n½ mi;qZDr esa ls dksbZ ugha 
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When the MCR down stream will have social status in this 

situation : 

(a) Social harm will be less 

(b) Social profit will be increased 

(c) Social loss will remain 

(d) None of the above 

4- ßlrr~ vkfFkZd dY;k.k ,d ,slk ys[kk&tks[kk gS tks vkSlr miHkksx ij 

gh fu/kkZfjr ugha gS vfirq i;kZoj.kh; {kfr rFkk mlds forj.k ij 

vk/kkfjr gSAÞ  

mi;qZDRk dFku gS % 

¼v½ Msyh vkSj tkWu dkWc dk 

¼c½ ek’kZy rFkk dhUl dk 

¼l½ ihxw rFkk lhVksoLdh d 

¼n½ mi;qZDr esa ls dksbZ ugha 

“Sustainable economic welfare is an account that which is 

not determined only on average consumption but is based on 

environmental damage and its distribution.”  

The above statement is given by :  

(a) Delly and John Cobb 

(b) Marshall and Keynes 

(c) Pigoue and Seitowsky 

(d) None of the above 
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5- fo’o lalk/kuksa dh laLFkk (World Resource Institution) ds vuqlkj 

i;kZoj.k lwpdkad gS % 

¼v½ ekuo&izHkko lwpdkad 

¼c½ izcU/kdh; lwpdkad 

¼l½ jkT; i;kZoj.k lwpdkad 

¼n½ mi;qZDr esa ls dksbZ ugha 

According to World Resource Institution environment index 

is : 

(a) Human Impact Index 

(b) Managerial Index 

(c) State Environment Index 

(d) None of the above 

6- xzhu gkml xSl gS % 

¼v½ ukbVªl vkWDlkbM 

¼c½ vkWDlhtu 

¼l½ Xykscy okfe±x 

¼n½ mi;qZDr esa ls dksbZ ugha 

Green House Gas is : 

(a) Nitrus oxide 

(b) Oxygen 

(c) Global Warming 

(d) None of the above 
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7- iznw”k.k dk fu/kkZj.k rc gksrk gS tc % 

¼v½ MCP = MBP 

¼c½ MCR = MCP 

¼l½ mRiknu  ykxr 

¼n½ mi;qZDr esa ls dksbZ ugha 

Pollution is determined when : 

(a) MCP = MBP 

(b) MCR = MCP 

(c) Production = Cost 

(d) None of the above 

8- fdruk iznw”k.k xzká gS \ 

¼v½ vuqdwyre ls U;wure 

¼c½ vuqdwyre ls vf/kdre 

¼l½ vuqdwyre Lrj rd 

¼n½ mi;qZDr esa ls dksbZ ugha 

How much pollution is the acceptable ? 

(a) Optimum to Minimum 

(b) Optimum to maximum  

(c) To the optimum level 

(d) None of the above 
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9- ihxwoknh dj lEcfU/kr gS % 

¼v½ iznw”k.k dh ykxr òf) ls 

¼c½ iznw”k.k fu;a=.k ls 

¼l½ iznw”k.k dh ykxr de djus ls 

¼n½ iznw”k.k dks vkSj c<+kus ls 

Pigovian taxes is related to : 

(a) increasing the cost of pollution 

(b) pollution control 

(c) reducing pollution costs 

(d) further increasing pollution 

10- i;kZoj.k fu;a=.k esa vfuf’prrk dh n’kk rc gksrh gS tc % 

¼v½ MCR dh js[kk ck;sa ls nk;sa uhps fxjrh gqbZ gks 

¼c½ MCR dh js[kk MD js[kk ds lerqY; gks 

¼l½ dj rFkk lhekUr ykxr ijLij leku gksa 

¼n½ mi;qZDr esa ls dksbZ ugha 

Uncertainty in environmental control occurs when :   

(a) The line of MCR is falling from left to right 

(b) The MCR line is equivalent to the MD line 

(c) Tax and marginal cost should be mutually equal 

(d) None of the above 
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11- rduhdh ifjorZu dk izHkko iznw”k.k ij iM+rk gS % 

¼v½ iznw”k.k dk Lrj c<+rk gS 

¼c½ iznw”k.k dk Lrj ?kVrk gS 

¼l½ iznw”k.k dk Lrj de rFkk vf/kd nksuksa Lrj gksrk gS 

¼n½ mi;qZDr esa ls dksbZ ugha 

Technological change have an impact on pollution : 

(a) Pollution level increases 

(b) Pollution level decreases 

(c) Pollution levels are both low and high 

(d) None of the above 

12- i;kZoj.kh; lkoZtfud oLrq,¡ gSa % 

¼v½ ikuh] gok rFkk ok;qe.My 

¼c½ tho&tUrq rFkk euq”;  

¼l½ m|ksx ,oa Qes± 

¼n½ mi;qZDr esa ls dksbZ ugha 

Environmental public goods are : 

(a) Water, air and atmosphere 

(b) Fauna and humans 

(c) Industry and firms 

(d) None of the above 
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13- iznw”k.k fu;a=.k dk ,d izdkj gS % 

¼v½ mRltZu izHkko 

¼c½ izeki fopyu 

¼l½ xq.kkad fopyu 

¼n½ mi;qZDr esa ls dksbZ ugha 

Pollution is a type of control : 

(a) Emission effect 

(b) Standard deviation 

(c) Coefficient deviation  

(d) None of the above 

14- ykxr&ykHk fo’ys”k.k dk ekin.M gS % 

¼v½ orZeku ewY;] Hkfo”; ewY; rFkk izfrQy dh nj 

¼c½ iwoZ&ewY;] Hkfo”; ewY; rFkk izfrQy dh nj 

¼l½ ladV ds le; dk ewY; rFkk izfrQy dh nj 

¼n½ mi;qZDr esa ls dksbZ ugha 

The criteria of analysis of cost-benefit is : 

(a) Present value, future value and rate of return 

(b) Previous value, future value and rate of return 

(c) Value of time of crisis and rate of return  

(d) None of the above 
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15- i;kZoj.kh; Hkfo”; ewY; vk/kkfjr gS % 

¼v½ Hkwfe ij 

¼c½ ty ij 

¼l½ ok;q ij 

¼n½ mi;qZDr esa ls dksbZ ugha 

Environmental future value is based on : 

(a) Land 

(b) Water 

(c) Air 

(d) None of the above 

16- iF̀kd~&i`Fkd~ oLrqvksa dh xq.koŸkk dh igpku dh tkrh gS % 

¼v½ vf/keku dher fof/k }kjk 

¼c½ vkoklh; mRiknu Qyu }kjk 

¼l½ MCY;w- Vh- vks- }kjk 

¼n½ mi;qZDr esa ls dksbZ ugha 

Quality is identified of different commodities : 

(a) By the method of preference pricing  

(b) By housing production function 

(c) By W. T. O. 

(d) None of the above 
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17- izkd`frd lalk/kuksa ds vkfFkZd ewY;kadu dk lehdj.k gS % 

¼v½ TEV = Uv + NUv 

¼c½ TEV = Uv – NUv 

¼l½ TEV = NUv – Uv 

¼n½ mi;qZDr esa ls dksbZ ugha 

The equation of economic evaluation of natural resources is :  

(a) TEV = Uv + NUv 

(b) TEV = Uv – NUv 

(c) TEV = NUv – Uv 

(d) None of the above 

18- lalk/kuksa ds lwpdkad dks ekius dk lw= gS % 

¼v½   

¼c½   

¼l½ vkfFkZd lalk/ku × okf”kZd miHkksx 

¼n½ mi;qZDr esa ls dksbZ ugha 

The formula for measuring the index of resources is : 

(a) 
Economic resources

Annual consumption
  

(b) 
Annual consumption

Economic resourse
  

(c) Economic resource × Annual consumption  

(d) None of the above 
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19- mixzg ys[kk gS % 

¼v½ izkd`frd iw¡th 

¼c½ xSj&izkdf̀rd iw¡th 

¼l½ izkd`frd rFkk xSj&izkdf̀rd iw¡th 

¼n½ mi;qZDr esa ls dksbZ ugha 

The satellite accounting is :  

(a) Natural capital 

(b) Non-natural capital 

(c) Natural and non-natural capital 

(d) None of the above 

20- Je l?ku rduhd dk izHkko gksrk gS % 

¼v½ lrr~ df̀”k ij 

¼c½ m|ksx ij 

¼l½ QeZ rFkk m|ksx ij 

¼n½ mi;qZDr esa ls dksbZ ugha 

Labour intensive technique have an effect : 

(a) On sustainable agriculture 

(b) On industries 

(c) On firm and industry 

(d) None of the above 
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 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nhft,A 

 Attempt any eight questions. 

fuEufyf[kr dks ifjHkkf”kr dhft, % 

Define the following : 

1- dkYMksj&fgDl {kfriwfrZ 

Kaldore-Hicks compensation 

2- pØh; izokg ekWMy 

Circular flow model 

3- /kukRed ckárk,¡ 

Positive externalities 

4- i;kZoj.kh; lkoZtfud oLrq,¡ 

Environmental public goods 

5- i;kZoj.kh; lkekftd dY;k.k 

Environmental social welfare 

6- lkekftd lhekUr ykxr 

Social Marginal Cost 
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7- tukafddh; varj.k 

Demographic Transmission 

8- ikfjfLFkfrdh; vFkZ’kkL= 

Ecological Economics 

9- MCY;w- Vh- vks- 

W. T. O. 

10- izkd`frd iw¡th 

Natural Capital 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nhft,A 

 Attempt any eight questions. 

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

Write short notes on the following : 

1- iSjsVks dh vuqdwyrk 

Pareto’s optimality 

2- ykxr ykHk 

Cost benefit 
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3- iz;ksfxd ewY; 

Use value 

4- vuqdwyre iznw”k.k dh lkekftd ilanxh 

Social choice of optimum pollution 

5- i;kZoj.kh; futh oLrq,¡ 

Environmental private goods 

6- i;kZoj.kh; ykxr ys[kkadu 

Environmental Cost Accounting 

7- og̀n~ vkfFkZd iSekuk 

Macro-economic scale 

8- vkfFkZd ys[kkadu 

Economic Accounting 

9- izkd`frd lalk/ku 

Natural Resources 

10- ÅtkZ cuke lalk/ku 

Energy vs. Resources 

 [k.M&n izR;sd 4 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % fdUgha ik¡p iz’uksa ds mŸkj nhft,A 

 Attempt any five questions. 

1- izks- csUFke ds ekWMy dks js[kkfp= ls le>kb,A 

Explain through diagram to the model of Prof. Bentham. 
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2-  

 

 

 

 

 

mi;qZDr js[kkfp= dks tula[;k ,oa i;kZoj.k dh n`f”V ls le>kb,A 

Explain the above mentioned line drawings from the point of 

view of population and environment.  

3- ykxr&ykHk fo’ys”k.k dks le>kb,A 

Explain the Cost-Benefit analysis. 

4- MCY;w- Vh- vks- ,oa i;kZoj.k ds e/; folaxfr;ksa dks fyf[k,A 

Write down the discrepancies between the W. T. O. and the 

environment. 

5- iw.kZ izfr;ksfxrk esa lkekftd dY;k.k vf/kdrehdj.k dks le>kb,A 

Explain the maximisation social welfare under perfect 

competition. 

6- df̀”k [kk| rFkk i;kZoj.k ij ,d laf{kIr fVIi.kh fyf[k,A 

Write a short note on the environment and agriculture food. 
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